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It seems to me that people have vast potential. Most people can do extraordinary
things if they have the confidence or take the risks. Yet most people don't. They

sit in front of the telly and treat life as if it goes on forever. -Philip Adams
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E-SOLUTION: TttE 90| 29 FA|SCH

3. 11 9 24-
Errors and failures typically corrupt all human designs. Indeed, the failure of a single component
of your car’s engine could force you to call for a tow truck. Similarly, a tiny wiring error in
your computer’s circuits can mean throwing the whole computer out. Natural systems are
different, though. Throughout Earth’s history, an estimated 3 million to 100 million species have
disappeared, which means that this year somewhere between three and a hundred species will
vanish. However, such natural extinctions appear to cause little harm. Over millions of years the
ecosystem has developed an amazing to errors and failures, surviving even such

drastic events as the impact of the Yucatan meteorite, which killed tens of thousands of species.

* meteorite; <A
connection
intolerance
insensitivity

accessibility

SNCHEECNS)

subjectivity

4. 11 35 4
In a classic set of studies over a ten-year period, biologist Gerald Wilkinson found that, when
vampire bats return to their communal nests from a successful night’s foraging, they frequently
vomit blood and share it with other nest-mates, including even non-relatives. The reason, it turns
out, is that blood-sharing greatly improves each bat’s chances of survival. A bat that fails to
feed for two nights is likely to die. Wilkinson showed that the blood donors are typically
sharing their surpluses and, in so doing, are saving unsuccessful foragers that are close to
starvation. So the costs are relatively low and the benefits are relatively high. Since no bat can
be certain of success on any given night, it is likely that the donor will itself eventually need
help from some nest-mate. In effect, the vampire bats have created a kind of

* forage: #o]S Aojrytt

@D complex social hierarchy

@ ecological diversity

@ mutual insurance system

@ parasitic relationship

(® effective reproduction process

11 -
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5.

One paradox is how fantasy and humor can wipe out perceptions of violence. Most viewers
regard the violence as absent, even if all other factors are present. This "Road Runner paradox"
allows viewers to experience some of the highest rates of graphically violent acts while feeling
that they are watching no violence. For example, in a British sample, respondents did not rate
cartoons as particularly violent. Even Morrison recognizes this when he says that the cartoon
Tom and Jerry contains so much violence that if you took away the violence you would be left
with nothing. But the public discounts these actions when cartoon characters appear in a fantasy
or humorous context, such as a cartoon. The public reasons that when Tom and Jerry are
stabbed or blown up, they are not really hurt, so when there is no harm there is no violence. In
contrast, scientists are less concerned with the harm to characters than they are with the potential
harm to viewers. Although viewers can use humor in several ways, humor is presented to
violence on television.

@ distinguish

@ devastate

@ trivialize

@ underscore

(B overestimate

On media violence-W. James Potter

6.

It doesn’t really matter whether we share a first name, a birthday, a home state, or a rare
fingerprint pattern—similarity can help to create an in-group dynamic that brings people together.
The more we can the similarities we have with someone else, the more likely we
are to hit it off with that person. This is especially useful in trying to connect with someone
who seems very different from us. If the person is from a different cultural background or a
different profession or industry, focus on the ways in which you are similar—music, sports,
humor. You’re more likely to create a connection.

@D compare

@ regulate

@ diminish

@ accentuate

® conduct

Click: The Power of Instant Connections-Ori Brafman

- 16 -
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5. 12 10”4 (ChA) 39-

Our galaxy contains enormous clouds of gas and dust called nebulae, which

consist of leftover parts of old stars, lots of hydrogen, and a little bit of helium.

A nebula has the potential to become a star.

(A) When this happens, the process called nuclear fusion arises. Nuclear fusion keeps the
protostar from falling apart under the pressure of gravity. It also causes the hydrogen and helium

gases to catch on fire, creating a new brightly glowing star.

(B) However, it must first become a protostar. When gravity pulls a cloud of gas and dust
together, it contracts into a dense ball with a very hot center. This dense ball is called a

protostar, and it is the beginning stage of a star's life.

(C) As the protostar heats up, its heavier elements are pushed to its core and the lighter
elements, such as hydrogen and helium, move to its surface. Eventually, a protostar will reach

the incredible temperature of 15 million degrees Celsius.

D@A)-B) -(C)@B) - (A)-(C) @B -(©)-A) @O -(A)-B OO -®B) - A

6. 13 109 44-

Napoleon Bonaparte demanded a secret communication system because he wanted

something to enable his soldiers to converse silently and even in the dark.

(A) In the new system, any letter could be composed of six dots (1 to 3 in a column on the
left, and 4 to 6 on the right) with a space between each letter. The letter M, for example, is
composed of three raised dots, 17374. The invention of Braille revolutionized communication for

millions.
(B) So Barbier took his idea to the National Institute for the Blind in Paris. There, he met
Louis Braille, who was blind. Braille fixed Barbier’s system, modifying it so that the finger

didn’t have to travel to read a symbol.

(C) In response to the request, Charles Barbier developed a code of raised dots on paper that

spelled out words. The military rejected it, however, because it was too hard to learn.

D A)-(0)-B) @B)-(A)-(C) OB)-(C)-(A) @(C)-(A)-(B) ®(C)-(B)-(A)

-89 -
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3.

ofM: YHIMo=Z Moot Hil= QA7te RE HASS R XA UECL HHE XA o
U REE & ¢ StHToEte 1Y LEH M2 HJAEHS =2{0F g ZAO|Ch DREER|Z
ARH 229 o AAM A2 do ME0 HFE THE UWHZOF & = UCE S
ot XA = CHELE X7 GAF THO ZX™A ef 3002H0fA 10| O[2&= FO| ARZtAL2
0, Ol= =of OfTlZto A 30iA 1000 O|=2= FO| AlgtE A= 2l0|etCh 2L} g
o Aol BE2 Aol oiE 7KK = A ZCh 4 o H oY S dEfA= 22t
2RO it =22 S=of £EZAS Z2o00, =T TS LZARE RILEN BoT 2
Mol 54 22 SHHY ArdoM = HOHE ULt

@ 9z

@ =28, 5

® +44

@ H2d8 = 7tsd

® =28

ofd: WEHAIZL &0 CHoi OfEA BtSS=XIE 21 U= =HMYUICL 0 SoM= tte

O 7p BIZH0| E0{7t= A0 71 &8 ZQIEYL|CL BIZtofM Qlztel dAH = XA LF Tt
ECtD £ Y=g, 2172te| AA = Errors and failures typically corrupt all human designs.z2}

0 AL QUSL|CH HHHO| XtE A= However, such natural extinctions appear to cause little
harmef 0 E[O{JUSLICt StLh= BEo|OjF, Stz S YO FE Sdl, A2 QAL CHE

‘Fegs LA Hebbs WEO[ BiZE Fof SO0{7t0F ULt [MatA FE2 3HYULCH 2>

o | —
= 1EM = ‘EA'Z*A'EHI O] A2+ intolerance®| S£& EE2MMYL|CL. EEAL in-O] £
= 4%, 2o tolel 8ol 7t E o U LICH oD invisibleQ| HFO[O0{= visible QI AN &
!
CHECK POINT:
Errors and failures typically corrupt all human designs.& BI{E|= LHESZ &1, However,
such natural extinctions appear to cause little harmE M O =2 T UE=7}H?
Words to learn
ST A|7| .
corrupt B vanish AF2FX|CH
EF2LAl 7|
drastic ZEsh intolerance 2248, =1y
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4.

ofM: WESHX} Gerald Wilkinsono| 10H0] A 2Fo| MPXQl A0l WEH, ZHEH
=0| IR d3H2Z YOo[E Aot =20 35 MMXZ =0E TF LS ESfLiM
SEs= T otLgt X0 50| ot #F St 1 O Sw/ettta ofth 1 Olf= o
£ L+ A0l 4 #F 352 dE JtsdS A SHAIZ17] ME0|2t EKLL 0F &
oF Hol|E YA Xote #HFes 55 7tsd0| ALk Wilkinson2 L|E &gots 3= &bt
Hoz He L|E S/ots A0, OFA £2=M HO|E FoHX| Roff OfAL 270 Aot
A4FES O El= Ao[2tD ERCE A HIE2 JHAH22 HOrX|1 0]92 H[WXH
ZOMX[A =L oftfet 9= FO0{Z &of HOo|E Fot= O d&¢ttt= &40l g7 W&
of, IE MSsts =3 A= A= MY SKESRFH =35 222 g #&
Med Sg9Fe 239 43 By HAE TS0 W AO[Ct

@ ST M2l Ag

@ dEfA 2l Bt

@ &= =2 MHA

@ 71’4 A

® zatH el MDY

ofd: o] X|Z0M=, BHHE2Z =2 LHES Olsisof tLiCt. FSAlo| gy o2 HES
=070 S0{7t0F gL CHEY Oof 7t StLi=E 2 = RIELULH. 22 WE2, 8¢ 93
S8 ME OE ZOo=2ZMN, MZE T84S =7 St At QU&L|CH Wilkinson showed
that the blood donors are typically sharing their surpluses and, in so doing, are saving

unsuccessful foragers that are close to starvation. O] 2&0| 1 29| siA LHEL|CE XA

ol W8k, 25 =0l & I & 2ot AYsS AX BAICH ZAl2tE, = WES W5HA =
2= 2 AL ‘OiE E HIAY "ol & E Aot sHx EO| KX ‘BJZ tret= IpChet 3
22 g 7 AsHO & XE AN HE H=E SHYACL

CHECK POINT:

Wilkinson showed that the blood donors are typically sharing their surpluses and, in so doing,
are saving unsuccessful foragers that are close to starvation. T O E HMKAAHOl OA=E2 O|df
SH=l HB8ETE

O O ML

Words to learn
foraging £ starvation OfAb. m &
hierarchy AZ. AARNM parasitic 7’49
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OIX|ZC} 12|t (HES2 Bt} HYESO| Blslet ZS WEIXLL SOaAS ZHo| =¥
Al 0l2f3t HESEHO WES)S ZA| ot (IFESS Tomi} Jeryst Ha|rL} Zwra
Ols| otz m, 1SS ARE CHAX| 27| M2, Wty CHile 20| gis 3 Zo| ¢f
Che 240] O|RSO|Ch 0|t HHj2, TftAISS FH2ES0| Ye AMECH 150 BAYHO
2 AEXA SIS N 4 Ut B2 o PAS JIFCH HIE AHASS SHE FF
dHoR AFRE 4 UX|TH QO{S W H|HON E242 sHEH HO[A ot
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= 1= [ | — = - - O
== A= Wol=, oAlof CHet Olsh7F S2eLICt. Tom and Jerry= HMZ= EH
Mol W& 5 |SHA] x=ota U LTt

QIL|C} 4t sHE X| A El
HIXAZ|MEE, WE Olsi2bt=s ‘222 HHH S HE0 HXIAZAX] HEpA=A] DBSHE
AlZ7| HEEFL|CH HA2 MEIX|O] trivializes 7|E 5 THOIYLICH<11 63 338>

CHECK POINT:

MHyAOl LS =etdl|A|, ~graphically violent acts while feeling that they are watching no
violence. ~so when there is no harm there is no violence. & oL} O|AS X|& HIZIO| ZHE
Aot SA=71

Words to learn
discount L=PN}{hult stab (& 22 Ao 2)R 2Lt
less A than B f q X
A 2}7|ECH B underscore ~Z Z4ZXSIC
(=more B than A) ! =< Fet
(~ A from B)1EH3|Ct ~= Ol EO|A BiCt
distinguish trivialize
[EtSAtl~= A &S0t ~= 285 Sict.
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6.

ofAM: 2|7t 0|8, Y, 1%, Z2 EE K= HEHE 3R U=sX= HHE 254

BAU-FAE2 AEESS 2YStes 08 Ul 9542 UEsH 38 & + UL 7

2|7t CHE OffH ARt 8H SRSt A= FAMEE X5 2= I AFED AOIE

A X'E 7tsd0| H=SE RO ofXH2 2ot Off ZEeh 20l Fw7tet Ake{a of

2 [Mf 5o w&cttt. e 1 MEO| ==t HiE. HYOo[L} Eo| ZOop7t CIELHE, 59
]

@ H|uStCf

si4d: RAMSOl BAOIA OfF Hg XLsX BojEs RHYLICL o HofRie| wzte 2
I K2 OF Ugol ‘B0 ACI(AH0 SHO|E, THO0|S, FHO|S)2ts 2SO
2 ° Yo XS hSHBE, 2 o

He gt led, F = /UASUCHL 28X 2
|A E|/0| O|AX Sto}F EO0|10 MAE StoF ERL|CE O] X200 A focus on the ways in
which you are similar7} HIZtO| ZAQYLICE =, FARGO| CHSHAM TSotet= 20| BIZE oo
SO0{7toF gLt et HSsHM E2b= 20| S0{7t0f 5t2=, 480 HEHYLICE sSH2
ot HO[X[ZH gAMEE X3, & |FAMEES SHet=s &2 X2 Wol= 28 =0 UX|
ooz QEYULLH 1H2 RAES HL, 5 X AN FAHES Hldotti= O]
XZ0| LtX| gteoz QF L(C PHoF 1HO0] FEO| Z|2{H, X[Z L{O|A ‘we can fortify

our relationship by seeing their similarities and ours’y} Z+2 L{-20| AZE|O{Of BFL|C}.

CHECK POINT:
focus on the ways in which you are similar& HESIH HEIQS| ZAHE TR
{27t Of24M nBIM=71?

rir

7t? e, MEHX]

2

Words to learn

diminish OFg| 5L} accentuate U XRSIL}
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6.
o A: Napoleon Bonaparte= At4AI9| HAFSO| AZ| §0|, A2|1 &2 ZOAMZ CH3tE
QA 3l & ofH A2 ML=, HE 4 A|AEES @F3UCEH

(O 270 83t0], Charles Barbier=, THo{e| EALS LiEtLE F0| #HO L2t FHe
Z O[F0iT =& 7L diLt 82717t U5 o4H7] M0 ZoMes IdE HF

ULt

(B)Z12§A Barbier= XAIQ
7|A = Louis Brailleg
M Z£7tEE Ol2[ME| &

of ofo[C|oZ Zalo| Y =Y AlZH Hojl H@ FEMzict A
O, = AIZPEHOIQI0| QT Braille2 7| E SjE817| 23

=

Ot = =
Z QU YL E Barbiero| MAHE X0 1HS TIHCE

(A Mz2 MANME, o =X=X] A 7] BRIF 20 1MFH 38X, LESR
0| 4HEH ANz e + AN ZF =X+ MOl SZhE F/ALE E =0,
ZAt M2 M 7hel EEtE H 1, 3, 422 O[RO{TICt. Braille FXfo| ZH2 FE2 A

YSo| olAAS0| 2I|Hel BstE Yozict

ofjMd: XN Zctu ¢ 2Hol AAINE|= X|AARALICE @ EEFOl demanded a  secret
communication= CZEHO| the requestlt CHSES & = USLICH CECHIF BEEHO| AZAD
2|l= X|EALRL Story tellingl|Ct. CEEHO| @@, BEEHHE 10| [ME ZuE dYs= AS
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